A= M= A OXE a0
M 9oy & =4
o9l CIOIE Falol #EAHIA &l (69 =)
A2 2N - BB O9(E) - HISAY - BES il v ol H o HlDE2
CIXIE &kt 21,132,152 15,339, 153 5,792,999
= 1,983,000 1,983,000 0
s 5,809,600 5,809,600 0
= 13,339,552 7,546,553 5,792,999
glgod & s4 181,000 81,000 100,000
CIoIE S&l2l HEMEIA Sal 181,000 81,000 100,000
23S 2OUoIH sgEds = 100,000 0 100,000
207 HA=1IHE] 100,000 0 100,000
02 &ADHE] 100,000 0 100,000
OZEd HUIOIH SEHS 25 £ 100,000 0 100,000
ICTe=¢g Aoty =4 10,676,275 6,146,776 4,529,499
= 3,809,600 3,809,600 0
S 6,866,675 2,337,176 4,529,499
ICTeg =& 10,676,275 6,146,776 4,529,499
s 3,809,600 3,809,600 0
L= 6,866,675 2,337,176 4,529,499
ICTOI=HIOIA AR =& (2IHETRIR) 141,999 112,500 29,499
308 KXIHMSOIH 141,999 112,500 29,49
11 B2 SO A H &AL 141,999 112,500 29,499
OICTOI=HIOIE A =EALS 141,999 112,500 29,499
CIOIH &8 & - 242 MEIH 28 (SHEEXY) 4,500,000 0 4,500,000
308 AXIHMSO0I& 4,500,000 0 4,500,000
11 SI 2SO E & A AE AL S| 4,500,000 0 4,500,000
OUIOIH &8 2= - A& MEH =4 4,500,000 0 4,500,000
CIXE 2d= & |4 3,807,500 2,644,000 1,163,500
HIEFHA &Y D18 2= 3,807,500 2,644,000 1,163,500
CIXNEg28= g2 =& 23,500 0 23,500
201 ZEH22 ] 18,500 0 18,500
01 ArR2eltl 18,500 0 18,500
O822It X252 23 3,000 0 3,000
ONEHA 2 28 S =& 15,500 0 15,500
202 04l 5,000 0 5,000
01 AL 5,000 0 5,000
OCINEz2d= AR =& 5,000 0 5,000
Z2 R AR HENHELNH 25 - 2 (2IHEEXY) 240,000 0 240,000
308 KXIHMSOIH 240,000 0 240,000
01 XN ELES 240,000 0 240,000
OZ& WR- AR HHENEHH 75 - 29 240,000 0 240,000
ZZUA HEHHA o8 25 - 2G(2IEAEXA) 600,000 0 600,000
308 AXIHMISO0I& 600,000 0 600,000
11 SI 2SO E A A AE AL S| 600,000 0 600,000
O=Z49d HEHA 5B 5 - 29 600,000 0 600,000




A MRS A OXE a0
M (XNE 2= &Y |4
2l HIEHHA &Y DI 1= (EEEE))
4224 BH - OS(SH) - AN - BaS of e o= o HIDS2
HEHHA =8 HEIBAA ZH(2IEEXH) 1,800,000 1,500,000 300,000
308 XXM SO0IA 1,800,000 1,500,000 300,000

11 S 2SS & HASAIE 1,800,000 1,500,000 300,000
OUIEtHA =8 2EISHA &4 1,800,000 1,500,000 300,000




